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Section A:  Multiple Choice Questions (60 marks)

For each question from 1 to 30, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) on the Optical Answer Sheet.

1. Mr. Tan wanted to find out how muchifood is d ,ggsted‘ in the dxgestlve system over a
‘period of time

“Which one of the following axes should he use to show-his-fesilts?

(),r » Amount of undigested ) A Amount of undigested food/g
food/g
L . Time/ min . Type of
organ
@ 4 Amount of digested food/g 7% 1; Amount of digested

food in each organ

» Time/ min — 5 Time/min

2.- The diagram below shows the qg&ga_gtjén of a plant. Irene wanted to find out
whether Part X of the plant has a system to transport a ‘substance to other parts of

the pIART- She did the-foflowing tests:

N Part X
& &
& &

Wrap a plastic bag around the leaves of a plant and place it in the sunlight.
Conduct a starch test on the leaves.

Measure the amount of water taken in by the plants.
Conduct a starch test on other parts of the plant.
Place the plant in coloured water and find out if the leaves are stained.

moowod

Which of the following will help her to achieve the aim of her experiment?

B and D only
C and E only
) A, CandE only
‘ ¢ C,DandE only

IO I A o Vv P4 4



The chart below shows how food and air is transported in the body.

Digestive Legend
Food »  system denotes path of ftow of food
"eo--. _? denotes gaseous exchange
o All
System | /™ . | parts
Q LT of the
: & GasY body
I -
I
| GasZ
|
A 4 1
Fresh air System P Exhaled
------------------ > ar
Identify Systems P, Q, R and Gases Y and Z.
System P System Q Gas Y Gas Z
Circulatory Respiratory o
. 0] Carbon dioxid
_«(’ﬂ system system - xygen aroon loﬁ_i_
1) Respiratory Circulatory Oxvaen Carbon dioide
system system 9 ’ ‘
Respiratory Circulatory .
) ~ 7 _ | Carbon dioxide Oxygen
] system system: -~ s
)73 Cireufatory Respiratory Carbon dioxide Oxygen
system system - ¥
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A Benedict set up a model of the respiratory system as shown below.

glass tube

— bell jar

—— balloons

*  ~___. rubber sﬁeet

What would Benedict observe when he pulled downp the rubber sheet?

B Balloons T Amount of air in the balloons 1
M Deflated | More
e
(2) - inflated \ Less
(/:() | Inflated . ~ More
(A Deflated! - Less
5 The diagram below shows a rﬁicro_scdpic view of a part of the plant.

Which one of the following statements is true about the main function of the parts
labelled X? o '

m X makes food for the plant. .
(2). X absorbs sunlight for the leaf to make food.
% X enables the leaf to take in water to make food.
X enables the leaf to exchange gases with its surroundings-

CHS/ISCIPEPrelimimat



6. The diagram below shows how sugar and water are transported to and from different

parts of the plant represented by A, B and™C’

." . M
” H’

| Stem water .___ .
N
C
Which of the following parts of plant are best represented by A, B and
c? ' :
. A B . | C
743 flowers leaves; roots ;
leaves roots ; fruits |
roots leaves’ flowers
NV leaves fruits© . roots

The tabIe.below shows the pags_,pi:—;@'ll. A tick () in the boxes represents-the part
of a cell that Cells P, Q, R and S have.

Parts of a Cell Cell P CellQ CeliR Cell S
Cytoplasm N R \ v
Cell Membrane N v v J
Cell Wall N V
. Nucleus . ~ v N
\ Chloroplasts N

Based on the above information, which of the above cell(s) is/are plant celis?

)  Sonly
& Q and S only
3 PandRonly
4y P,QandR only
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Arthur wanted to carry out an experiment to find-outhow a plant cap disperse its
seeds diagram below shows How three similar frunts were used in the

exper]ment

Left intact 1'wing is femoved

1

2 wings arefrémoved

Each of the three fruits was then released from a window ledge and the results were
recorded:

What sh

wn-ir.the above experiment?
W Mass of the fruits
(2) Speed at which the fruit floated in the air

(3y Height-atawhich each fruit was dropped
)  Time taken for the fruits to reach the ground

Darren wanted to.test.if bees are attracted to the \colour\of ﬂowers Which one of the
following palrs shou!d he use?

M

(2)

)

white flower X with nectar

@y

white flower Y with nectar red flower Y with nectar
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107 Study the diagrams below carefully.

11.

XXXXX
XX s
XXXXXXXX Greenbean — | XXXXX
X- seeds XXXXX
XXXXXXX XXXXX
M Box Q
XXXXX-XXXXX- | Greenbean ___ | - XXXXXX
X X X X X seeds XXXXXXX
X X X X XXXXXXX
BoxR ' Box S
In the experiment shown above, four boxes were filled with soil and the same

number of seeds was planted. Each box was watered with an equal amount of water
each day. B

Which one of the following about the plants in the set-ups is correct?
The height of the plants in Box R will be the shortest.

The plants in Box P will grow better than those in Box S«
(#)  The height of those in Box S will be taller than those in Box P

g The plants in Box Q will grow the fastest.
(

Si Jie planted some seeds from the same plant in 2 contginers\ A and. 8, as showr
below. She only changed one varablein the experiment and the seeds germinatec
after a day.

Petridish A Petridish B

Based on the above, which one of the following is most likely the variable that was
being tested?

Presence of air
Q Presence. of light
{3)  Amount of water
(#4)  Fypeof petr disit
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12.

Human blood can be classified into four maijn blood types, A, B, AB and O.

The table below shows how each of these donor blood ty;)'es can be matched to the

recipient blood type.

Blood Types Do}\or Blood Types |
Recipient {
Bload Type A B AB O
A " Yes ' No No Yes
B _No . Yes No ¥Yes B
N AB Yes Yes Yes Yes
d No ' No No - Yes
Ron's family-has the following blood types.
Father Typ___e B
Mother | Type AB
Ron's sister Type A
Ropr | Fypa B
 Ron’s brother | Type O

if Ron needs a blood transfusion, who can he receive blood from?

(Q His sister only.
(SQ All except his sister.

(W) His mother.and father only.
(#)  His father and brother only.



13. A group of pupils caried outan investigetion_on photosynthesis. They left 3 similar

pots of plants in a dark room for 3.days and-watered them-daily. They thén placed

the pots of plants-irthe 3 set-ups shown below. These pots were then placed under

the sun in the school-field..

Set-up A Set-up B~ Set-up C

.

Solution P Solution Q . Solution R

After 5 hours, the pupils removed a leaf each from the set-ups, A, Band C and"

labelled them as A, B and C. They then conducted a starch test on each of them anc
the results were as follows.

Leaf Gbservation
A ' lodine remained brown.
B lodine/turned dark blye.
C loding turned dark blue.

Which one of the following was most likely to be the p_g_r_@_e’of_sgluﬁansa_@and R

Solution P Solution Q | Solution R
(1N Remo,véfs_ oxygen Removes water vapour Absorbs oxygen
2) Removes carbon Produces carbon dioxide | Absorbs water vapou:
. dioxide
(3) | Removes water vapour Removes oxygen Absorbs .carbon dioxid
4) Produces carbon Removes carbon dioxide Absorbs oxygen'
dioxide

CUQ/IQMMIOA M vATicn 4 I%9N1 ¢



74. - The diagram below shows a bottle garden.

Plant

Damp soil —Czs 1 Ty,

lt' was placed in the Science room under a lamp that was switched on. it was left
unattended for a week:

Which one of the following observations best describes what happens after a week?

The plants will have a continuous supply of water to enable them fo survive.
The plants will have wilted as they would have use up all the water in the soil.

#  There is insufficient carbon dioxide for the plants to make food so the plants
would have withéred.

%7 . Without sualigh’i, th,é plants will not be able to make their own food

CHS/SCUP6/Prelim1/2011 : L)



15.  Sally conducted an experiment with 4_identicabHren-nails, W, X, Y and Z to find out

how the rmmbemﬁsfrokesmde-hy,amagn&tmou@b&magneﬁg _§trength of

ap-uwon nail. She stroked each nail with a magnet in the_ﬁame direction as shown
below.

-

R Y RN 1$

She counted the number of times she stroked each nail with the magnet. She then
tested each magnetised nail by holding it close to some pins. She counted the
number of pins attracted to each magnetised nail and recorded her results in the

table below.
Nail - Number of strokes Number of pins attracted
by magnetised nail
w 40 10
X 30 ‘ 8
Y 20 6
Z 10 | 4

From the table above, which one of the following statements is false?

@Y If Nail Y received more strokes, it can attract only 6 pins.

)  Nail W has become the strongest magnet after stroking it 40 times with a
magnet.

(3J  Aniron naif can become a magnet after stroking it with a magnet 10 times.

/(,4'5 The number of pins picked up by a magnetised nail is dependent on the
number of times the nail was stroked with a magnet.

16.  Three identical syringes were filled with an equal amount of A, B and C. The plunger

was then pushed in with a similar force and the distance moved by the plunger was
recorded in the table as shown below. -

Substance Distance moved by the plunger when pushed
_in/em
A 0
B 0
C [ . 4 |

Which one of the following statements about the substances is definitely irse?

¢} A and B can be solids.

(2J C has a definite volume.

(3% C cannot be compressed.

(47 B does not take the shape of the container.

CHSISCHPAPralim 112011 an



17. The diagram below shows a piece of cork floating in a trough-ef water_..____

Floating cork

‘\ E;l - Trough

#+— Water -

An emmy\pﬁ::ic cup_ja inverted over the cork carefully and held down firmly into the
© trough of watt ' '

Which aone of the diagrams above shows the most possib ition of the
cork in the plastic cgé’?

18.

. / | I cloud |
\ watel !
X T vapour |

1

land \

Which of the following correctly describes the processes X and Y in the diagram
above? ' :

Process X does not take place at a fixed temperature.
Process X takes place at a higher temperature than Y.
Process Y takes place only when there is a warmer surrounding air.

A

B

C

7 AandBonly
£) . Aand C only
L) BandConly
A/ A,BandC

Pl B lT. o Tal leT-F o PV LWy S ey



19.

Wendy poured 100 cm® of water into each of the four bowls A. B, C and D. The four

bowls were made of the same materials but have different exposed Sitface areas.
She—ptaced-three of the bowls or-a—tabfe In"the open and anotherunder direct

sunlight.

A few hours later, she measured the volume of Water left in each bowl using a
measuring cylinder as shown below.

/

BowlW | BowlX | BowlY Bowl Z
Exposed surface area/cm’® 20 49. | ..60 80
Volume of water remaining/cm® 64 73 70 64

Which one of above bowls was most likely {&ftia a differerif location from the rest?

Bowi W

Bowl X
(3 BowlY
#) BowlZ

7

MAUCHICNIDR D ralim 1 041



20.  Study the flow chart below.

Metal Rod

—

Ceramic Bowi

Frosted Paper |
N -

P

Which of the following correctly fits into A, B and C?

A

.1

.| Rubber Band

C

1 7 Aliows-ight to’pass
~ through? -

Can be stretched?

£2) | = Breaks easily?’
. ) _ ,L\‘

3teaks easily?

Conducts electficity? |

Breaks easily?

Conducts electricity? | -

lght to pass
ough? " |
3"stretched?

@ [ Breaks easily?

. A e 4 . .~ s . o am




21. The diagram below shows two cubes that are attached together.

A light s‘ource. was shone from differen_t' positions on the two cubes which are
mounted on the table. '

A A

Which of the following could be the shadow(s) cast by the two cubes?

) -Conly

2) Aand C only
) BandDonly
(() B, C and D only

CHSISCHPRPrelim1/2011



22.  Sharon poured an equal amoupt-of watecbut of different tempera w

similar containers. A and B8 ~Fach contained an equal amount of milk powder as
shown below. -

She observed that the bubbles in.A were bigger than those in B.

Based on the observation‘s above, which one of the following is correct?

Temperature of | Temperature of water

water poured into

poured into'B/ °C

Exblan’ation

AfC

o 80 45 Heat caused the hot water
in A to expand more than in

, B.

?) 45 80 The heat caused the
milk powder to expand
lesser in 8, thus the bubbles

I dre ‘srivalier.

(3y 80 45 .| Heat caused the dissolved
air in the milk powder and
waterin A fo expand more
than in B.

753 45 80

Heat caused A to expand
more than B.

ot R Tt - Yy e



23.  Rachel carried out an investigation.tg {gsf the electric nductivity of four different
materials, A, B, C and D in an electrical circuit shown below.

O CO C 0 CO

Material A Material B Material C Material D

bulb

crocodile clip

- - : \/CIE’
batteries

wire

if the material is a conductor of electricity, the bulb in the set-up lights up. Rachef
recorded the re'§_|'.:l.ts in the table shown below.

Material Does the bulb light up?
A - No N
B Yes
- C No
D Yes
Which of the following shows the materials which the objects A, B, C and D are
made of?
A B C D
M steel | fron , paper fabric #
) fabric ceramic plastic carbon
3 copper . steel glass ceramic
) ceramic iron rutSber copper

CHSISCHPRIPratim1/2011



24. The list below shows some processes involving energy changes.

Burning of oil
Rubbing of two bottle caps together
A stone falling off a cliff

A moving windmill connected to an electric generator.

oOow>»

Which one of these diagrams correctly shows the energy changes in the processes

AN

abave? o
@ heat 2] heat
energy energy

-

potential | _C | Mnetic potential | _A_,| kinetic
energy -« - ) energy . energy enefgy

B

10

electrical
energy

le

electrical
energy

=) ‘ heat | A heat .
’ enefgy c ‘energy

y'

7
. B kinetic . A kinetic
| | D | | A S
- l A

A
la

eleétrical
1" energy

electrical
energy
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25. The diagram below shows a boy on a swing.

Ground

Which one of the following graphs correctly shows the changes in the amount of
potential energy and kinetic energy from position A to position B?

Kinetic energy ———~-—— Gravitational Potential energy

e i

T ( .
Energy nec :
A
: ’ :
4 L
/ b / ,\ =
V4 A V4 ’X
/ \z y L i
% N > Y >
A B Position A B Position
T
Energy

Position A B

Position

CHS/KCUPRPralim 12011

4



26. Look at the diagram below carefully.

T 1

_‘ retort stand

What energy conversion took place to make the paper cup spin?

#Y  Heat Energy -> Kinetic Energy + Light Energy

£2)  Heat Energy + Light Energy > Kinetic Energy

3y Potential Energy - Light Energy + Heat Energy - Kinetic Energy
(#  Potential Energy > Heat Energy + Light Energy + Kinetic Energy

27.  Janice can reach the second-fleoraf a shopping centre from the first floor by

climbing a flight of stairs or by using the nearby elevator.

Which of the following statementi(s) is/are correct?

A She does not gain gravitational potential energy by climbing the stairs..
B She uses more chemical potential energy to climb the stairs than taking
the elevator. ,
C She gains more gravitational potential energy by climbing the stairs
' than taking the elevator.
D The gravitational potential energy she gaingd is the same whether she
climbs the stairs or takes the elevator.
Yy Bonly
() BandDonly
£ Aand C only
(47 A ,BandD only

CHS/SCYPS/Prelimiiont1



28.

/

o

in the experiment shown below, weights were added until the wooden block began to
move over the Surface W. T

The experiment was repeated by replacing Surface W with different surfaces X, Y

and Z.

The results are shown in the table below.

Type of surface

W

X

Force/
_required/unit |

150

130"

115

What can we conclude from the experiment?

5}{ It is easier to pull an object across Surface X than Surface Y.

(2]  Surface Y has the least frictional force as compared to Surface W, X and Z.
(3}  Surface Z is the most slippery and is most suitable for making a dance-fleor.
“)

The wooden block has the greatest amount of frictional force when in contact

with Surface W as compared to Surfaces X, Y and Z.

AUQICTIDE D rntirm 1 MO 4




29.  The graph betow shows the length of a spring when different weights are attached to

it.

Weight in /g

B e S R e

-8 10 15 20 25

Length of spring /cm

What was the extension|of the spring when a weight of 80 g was attached to it?

“  Scm
@ 15cm
3 20cm
“)  25cm

CHS/SCUP6/MPrelim1/2011



20.
The diagram below shows a spring board. A ball was dropped from different heights

onte———end P -and-the maximum helght o which-the Batt6ounced was recorded. The
expérnimentwas repedted several times.

Which one of the following shows a_possible aim of the expetiment-and-the variables
which should be kept constant? A tick indicates thattie variable is kept consfant:

Aim of experiment Position of Length of Distance .
spring | wooden board between the
) ball and
springboard
(D} | How the position of the Vv Vv
spring affects the height
that the balt bouvnce | (|
(- | How the number of springs Vv Vv
affects how high the bali
bounce '
(8) | How different heights the v v

ball were dropped affected
the height it bounced _
M4) | How the height that the ball v v
was dropped affected how
far it rolled -

- End of Section A -

CHS/SCIP6/Prelim1/2011 99
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Section B: Open-ended Questions (40 marks)

Read the following questions carefully and write your answers in the space

provided. The maximum marks that can be awarded are shown at the end of
each question or part-question. )

31.

Zheng Wei. was asked to jog around the frack for ten minutes. His
breathing rate and heartbeat rate during the activity were measured and
plotted into line graphs as shown below.
Breathing Il 4
ratefunit _ Heartbeat rate/ unit
: 60 7 .
127 o ’
. > ‘ >
o 10 Time 0 10 Time
/min /min
(@) Based on the graphs shown above, what is the relationship
between the breathing rate and the heartbeat rate?
{11
(b}  After (tLhe 10-minute jog, Zheng Wei walked. for another 10
minutes, before resting for the last 10 minutes.
Complete the graph below to show how his heartbeat rate will be
. for the 30 minutes of activities. M
Heartbeatt
ratefunit ‘ ; ‘
5 : :
60 T~ : : i
i F L o
1 1 i . PR
0 10 20 30  Time oin

L d
¥

22 -I /



32. The diagrams below show the simplified human and fish circulatory
systems. The arrows show how air is taken in by the respiratory
systems and circulated in the bodies.

X

/\ ‘ ‘/_\t)ther parts of the

'_l Lungs. 1 'Hef‘t- body

Human circulatory system

—

Gills Other parts of
the body

Y . Heart }4—”/

Fish-circulatory sylﬁtem :

(a) State the difference between how air is circulated in the systems
based on the given diagrams above. M

(b) What is orie simitarity between the blood found at iocations X and Y2

(1




33. The diagrams below show a female cell and a male cell of a bird.

PartY
Part X

Female
eqg cell

Male cell

(a) What is the similarity beween the parts of the cell labelled X
and Y? (1]

(b) ©  What happens during fertilization? M)

34. Study the graph below.

Ptant X
Number of : B
~ fruits .
dispersed - PlantY
o Strength of Wind/unit .
(a)

Based on the graph above; how are the AmBaRAkIAiS Hisnersed by
Plant X and Plant Y affected by the streagthsoft 21

t
i
1l

-(;b)' _ W'hgtcan youinfer about the structure of the fruits of Plant X based on
the graph? ' : (1]

4
1

b oo



35. Anders wanted to find out how the number of leaves on the plant
affects the rate of absorption of water by the plant. He conducted an
experiment by placing two similar plants in identical jars, each
containing water at the same height h1 and n2, as shown below.

He then placed the two set-ups A and B next to the window for 2 days.

(a) Draw the control for the experiment and label your. diagram
clearty. B V|

(b) What should he observe in the both set-ups to conclude that
the Aiumber of leavés on the ptant affec’ts the rate of absorptlon
of water by the plant? - - {1
1

-

s | [/



36. An expenment was conducted by Sam using 2 similar leaves fror fand
‘plants A and B.
He coated the two feaves on different surfaces with oil. Each leaf was
welghed and hung in an open area as shown below. After three hours,
each leaf was weighed again.

Leaf(giton - 1 LeaP8)(oil on
Iunde‘r'sid_é) - upper surface)

A AL

GaE Whatis the dffference that will be observed i n the mass of the two
leaves after 3 hours? , ‘ [1]

w‘& Explain your answer in (a). | (2]




37. Tim carried out an experiment by placing Bags A and B which contained

starch solution info beakers filled with a brown solution X as shown in
Set-ups 1 and 2 respectively.

beaker

solufion X

starch solution

After an hour, he tested for the presence of starch at'the end of the

experiment in the respective bags and beakers in both set-ups.. He
recorded the resuits of his test in the table below

Set-up 1 Colour of solution at Colour of solution at |
- the start of experiment the end of
- ' experiment
Solution in Bag A - ' White Dark blue
-Solution X in beaker : . Browd | g L Brown
Set-up2 ] Colour of solution at 1 Colour of solution at
s the start of experiment the end of
P experiment
Solution in Bag B : White White T
| Solution X in beaker Brown Brown l
. (@) What can Solution X be? ' M

|

S

(b) Based on the given results, what can you conclude about the
property of Bag A and Bag B from the above expenment’? 1]

1}

T T



38.  Arthur wanted to find out if he could magnetise two similar steel rods, X

~and Y, by using different poles of two magnets to stroke the rods. The
diagrams below show the two ways that he stroked the steet rods.

X Y
(a) What will happen when both the steel rods are brought near
some paper clips after they have been stroked? M
‘(b

Explain how you will.caifiii#t if they have beeomESaiiporary




39. Mary covered the front of a plastic syringe with black paper and filled it

completely with Matter X as shown below. She then puts weights on the

plunger of the syringe. For every weight she added, she noted the
volume of Malter X {n the syringe.

The results are recorded in the table below.

“weights o
plunger Weight added/g | Volume of MatterX /ml
. 0 50
syringe p 45
biack paper i ;g :
4 32
5 26

____ sealed opening

(é) What is the relationship between the number of weights added
and the volume of Matter X in the plastic syringe? (1]

(b) What can she conclude about Matter X?

M




40. Judy walked from point A to C passing a lamp post at B.

lamp post

A B C

(a) If the only light source nearby was a lamp post, draw in the graph
provided below to show how the length of her shadow changes

from Ato C. m
Length of A
shadow/cm

1 1 I S

! ! 7 Position

A B C

{b): . Explain the change in the length of the shadow as shown in
your graph. ' 21




The rear windaw of the car shown below contains a heating element

The heating element is part of an electrical circuit connected to the
battery of the car.

The diagrams below show two ways of connectlng the circuit of a
heating element.

J 1}t

1
."}‘" I - P 2 e . o _
— R |
= o
— N\ | ]/ _ |
Circuit A . heatin.g_ Circuit B
element

:,i'(ﬁ’z) Which of the above circuits, A or B, should be used for the Cll’CUlt of

the heating element? Do not use the length of the heatmg element
as:a reason for your choxoe Explai S

(b)

What is one difference between the two circuits when ‘the

switches for bath the circuits are closed? State oge disadvantage
of Circuit A-as compared to Circuit B

- 2

L

i

| _
\




42.

Aaron left three similar glass blocks in 3 rooms of different
temperatures for an hour. They weré then removed and leffin Room D.

After a few minutes, he observed water droplets on the block from
Room A but not the blocks from RoomB or C.

. i Room A ROOﬁ 3. Room C
x|l gfass Y4 glass 7 glass
black block i block
Room D

[

What can you conclude about the temperature of the rooms?

(a) (2]

(b).

Explain Aaron’s-observations of blocks X, Y and Z in Room D. {2]




43. Colin wanted to find out how the height of the water wheel placed from

the running water will affect the speed of the water wheel.

Vanes made of

aluminium
Vanes made of
[ plastic

Vanes made of

aluminium

Set-up A Set-up B Set-up D

(a) Colin used set-ups B and C to conduct the experiment.
Explam if you agree ‘with hirm. (2]

I
!

(b) When Colin decided to use set-ups A and D, Gina predicted

that the watér wheel would spin slower when it was brought

lower under the tap. Colin disagreed and said it would spin

faster. Who is correct? Explain your answer. - (2]




44.  Shanna set up an experniment as shown below.

©)
ﬂ spring balance
[

stick

/

container

80 cm® of
sand

First, she measured the force she needed to lift the stick upwards. Then

she poured in 80 cm® of sand and pulied the stick slowly upwards. She
recorded the amount of force needed to pull the stick out.

(@) What was the force that caused the spring to stretch in set-up A?
' 1&l}

(b) Explain why there was an increase in the force needed to pull the

stick out each fime she increases the amount of sand that is
poured in.

(2]

-End of Paper-
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31)a)As the breathing rate increases, the heart beat rate also increases.
b) '
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32)a)In the human circulatory system, air is circulated from the lungs to the heart
which pumps the blood rich in oxygen to other parts of the body, but in the fish
circulatory system, air is circulated from the gills to other parts of the body without
passing through the heart.

b)The blood found at location X and Y are poor in oxygen and rich in carbon
dioxide.

33)a)Part X and Y controls the cell.

b)During fertilization, Part Y of the female egg cell fuses with Part X of the male
cell.

34)a)The stronger the wind, the greafer is the number of fruits dispersed by Plant X.

The number of fruits dispersed by plant Y is not affected by the strength of the wind.
b)The fruits of Plant X has parachute-like structure and it is also light.
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35)a)

b)The height of the remaining water.

36)a)Leaf A has a greater mass than Leaf B.

b)There are more stomata on the underside than the upper surface of a leaf.
Since Leaf B has oil on the upper surface, it will Jose more water than leaf A which
has oil on the underside. Thus leaf A has greater mass than leaf B.

37)a)Solution X could be iodine.

b)Bag A is semi-permeable while bag-B is not.

c)Since Bag A is semi-permeable, it allows solution X to enter. Iodine turns dark
blue in the presence of starch. Bag B does allow solution X to enter so the solution in
Bag B remains white.

38)a)The paper clips will be attracted to the steel rods.

b)Put the same pole of a magnet near each pole of steel rods, X and Y. If one pole
attracted while the other pole repels with the magnet, this will confirm they have
become temporary magnets because only magnets can repel.

39)a)As the number of weights added increases, the volume of Matter X decreases.
b)She can oconclude that Matter X is a gas and can be compressed.

A
40)a)
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b)As Judy walked from A to B, her distance from the lamp post decreases, so the
length of the shadow also decreases. At B, the lamp post is directly overhead so her
shadows is the shortest. As she walked from B to C, her distance from the lamp post
increases, so the length of her shadow also increases.

41)a)Circuit A should b used. If one wire in circuit A breaks, the heating element will
continue to work and only one wire will not heat the window, but if one part in circuit
B is broken, the whole circuit will stop working.

b)Circuit A is heated up in parallel but circuit B is heated up in parallel. One
disadvantage is circuit A takes a longer time to heat up than circuit B.
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42)a)The temperature of Room A which glass block X was put in was lower than the
temperature of Room D while the temperature of Room B and C which glass box Y
and Z was put in was higher than the temperature of Room D.

b)The water vapour in the surrounding air in Room D condensed on the surface of
glass block X, forming water droplets while the temperature glass Y and Z were
higher than the surrounding air so there was no water droplets on them.

43)a)I do not agree with him. It is not a fair test. The vanes are not made of the
same material. The water wheels have different number of vanes.

b)Colin is correct. As the height of the water wheel placed from the running water
increases, the potential energy of the running water also increases which is changed
to greater kinetic energy making the wheel spin faster. .

44)a)The weight of the stick.

b)As the weight of sand that .isipoured in increases, the frictional force between
the sand and the stick-a'l'so increases. Extra is needed to overcome this frictional fore.
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